6 5 | 4 v 3 2 1
REVISIONS
A- 30—00é INITIAL RELEASE {(FRCM 29—20605 r_C)| EAB RF 5/22/02
B |30-007( ADD J9 and J10
5X ©.120 THRU, \v/ 8.155 X 120",
TAP FOR .112—40 UNC HELICAL STI,
2X .09 INSTALL INSERT (FN 5) 3/4 TO 1—1/2 PITCH BELOW SURFACE,
S ) INSTALL INSERT AFTER FINISH.
¢
r-129 & ]8.010 ®|F |A|C]
@
b seE™ o o F2X .09
VARIATIONS s ;
(e}
1 e @ VARIATIONS
M
T PART NO. ENGRAVING
125 L_ 1
' 30-20605.01 | AE/TCE — 01
187 — |— A CHARACTER [ OCATION
30-20605.02 | AE/TCE — 23
O N '5
3 mY > _ rye (.300)
4X 9.143 — ST —_ =
SEE DETAIL A ‘\ MARKED F Lr'\) 105.0 Q7 A —~— | |- .0B0
‘\ 135.0 |
[F— ‘ i — 2.202 4= (2.265) ' ~
A 1.960 '\' e R M F 1 960 _j/@$\/ (2.201) = e 2.080 %
2x 1.680 1. G ol - —-—-—-—\ o : C o of Jo Y
HA— 1.460 TS l : 1.460 — 24 - = R 93 ~e
: 2x 1.150 i i —c T — i : i - 5X R .12 ALL AROUND |°H
A 1.076 S I T SuR:l 5 0 @ o '
A S I——“ﬁ;“f >§-—-}$'——--ﬁ--j FEd— 460 c -1 610 ?\ 5 @ 6 — .250 —
403 . E * ¢ (== R 403 £12 C3 I
B ox 336 2 I 21 | = (.0B0) 234 — “E-|  eo )
’E“— .000 .000 g ) | 3 ' .000 1 Qoo .0Q0 | 2 .
—B- R .15 m\R 03 MAX ‘
© <O S % ( —D— A : I9 2X ’7 o —_(365)
O [CA_ | @ W o v - N 8 3 N5
0 M Q o o L N 2 o o o N | o
9 S SEE DETAL B & m’ 0 G 2 g2lg s & B S 28 SECTION A—A
S o ) | . O
¥ g ° SEE DETAIL C @ Cg ™ 00
. © X<
ﬁ_
HOLE CHART
“c_ 5.965
. 806 — - . - 1 134 HOLE QTY TOLERANCE — DESCRIPTION
089 —||— 5 50220 5% 0915 — 1.312 A | 4 | [efeoto®@[c[A]B] | 9.094 1 g00 THRU, \/ 8.100 +.010 X 120" +5,
—|| 084 F\ 10.0° — 1.250 ‘ A~ 100 TAP ¥ .140 FOR .086—56 UNC HELICAL STI.
‘ a4 135 — " 089 B 3 | [@le00@[o[AE] INSTALL INSERT (FN 3) 3/4 — 1 1/2 PITCH BELOW
| ___ [ - & %5 - —5- . 3 | ] J_,449 SURFACE. INSTALL INSERT AFTER FINISH.
_ - = ' Y,
o5 ] Q{ 7_\]“1 R A A AAS @.0941“883 ¥ .236, \V 8.100 £.010 X 120" +5°,
i R 130 \ f 225 T “4\ f C T | [@]e.010 @ |D[A[B]| | TAP ¥ .140 FOR .086—56 UNC HELICAL STI.
' 2X $.120 THRU , AX R 132 INSTALL INSERT (FN 3) 3/4 — 1 1/2 PITCH BELOW
OX #.120 THRU, N 8.155 X 120, ZX 9120 THRU SURFACE. INSTALL INSERT AFTER FINISH.
TAP FOR .112—4Q UNC HELICAL STI, DETAIL B
DETAIL C INSTALL INSERT (FN 5) 3/4 TO 1—1/2 PITCH > PLACES 5 | 3057 005 oo
2 PLACES o~ —.002
BELOW SURFACE, INSTALL INSERT AFTER FINISH.
$.166 f‘ggg THRU, \/ 8.185/.209 X 120° %5,
14 |0.010 @|E[A|C| c ’ :
TAP THRU FOR M4 X 0.7 (METRIC) HELICAL STI.
NOTES: 2.500 INSTALL INSERT (FN 4) 3/4 — 1 1/2 PITCH BELOW
1. MATERIAL: ALUMINUM ALLOY 6061-T651 PER QQ—A—250/11. .087 — 2.326 10.0 SURFACE. INSTALL INSERT AFTER FINISH.
2. FINISH: CHEMICAL FILM ALL OVER PER MIL—C—5541, CLASS 3.
) 449 UNLESS QOTHERWISE SPECIFIED:
MASK PART AS SHOWN. PRIME AND PAINT REMAINING SURFACES USING b e I8 L MASSACHUSETTS INSTITUTE OF ECHNOLOGY
AEROGLAZE 9924 (PRIMER) AND AEROGLAZE 7306, BLACK (PAINT). [ . A4 D ey CAMBRIDGE, MA 02139
MASK THESE SURFACES BEFORE PRIMING AND PAINTING. 225 — - ]L—\ t . SWTH | 1002 ANSI Y14.5 = 1982
4. REMOVE ALL BURRS AND SHARP EDGES R.010 MAXIMUM BEFORE FINISHING. AX R 132 \zx 6120 THRU creckm M. SMITH | 4-19-02 D%ﬁﬁﬂigﬁiéﬁgsmifs ENDPLATE, LEFT
5. UNTOLERANCED DIMENSIONS LOCATING TRUE POSITION ARE BASIC. DETAIL A APROED R FOSTER | 4-21-02 | < B ASE DECIMALS £.005
6. HANDLE IN ACCORDANCE WITH 30-01303. REEN® D, GAGE 4-31-02 2 PLACE DECIMALS +.01 [ [oee oo T V.
2 PLACES THIRD ANGLE @ Q D| 80230 30—-206050 B
{f§ ENGRAVE, .12 HIGH GOTHIC CHARACTERS AS SHOWN. weeT PROJECTION s T | [oar 7 OF 2
6 5 4 b 3 2 | 1




Jo

[

IRRNANCNANRNNY

/ 17X @.25

IIIIIIII

EEEEEEEEEE

PPPPPPPP

SEE SHEET 1

NN

TR

50—-20000

"R

SHEET 72 OF 2

1




